(8+4+4+9 points] 5
5. Suppose that the function f(z) defined on the interval (—R, R) by a power series
f(I) :CO‘i‘leL‘—I—CQzQ+...+Cn:rn_’_.._
which has radius of convergence R > 0 satisfies f(0) =1 and f'(z) = f(z/2) for all z in (=R, R).

a. Express the coefficients of the following series in terms of ¢, ¢, ¢a,

.., Cn, ... by filling in the
boxes. No explanation is required.
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b. Give a recurrence relation for {c,}>2, by filling in the boxes. No explanation is required.
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c¢. Find R.
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d. Determine whether f(—2) is positive or negative.
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